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8. Write short notes on’any three: 6x3=18
i) Height and Instrument
ii) Quadrantal Bearing
iii) Sounding RGPVONLINE.COM
iv) Intersection method of plane table surveying

v) Temporary adjustment of Dumpy level.
frafafaa # 9 i a9 w feoft fafag

i) TP H FaTg

i) agufa Rew=

iii) ARefET

iv) ued |derr H ufeeve fafy
V) saft daet BT SRR wHO
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FOURTHSEMESTER
PART TIME DIPLOMA COURSE IN CIVIL
ENGINEERING
SURVEYING -1

Time : Three Hours Maximum Marks : 100

Note : i) Attempt total six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.

T B: U g Bl | 7o s 1 (TGS
UK HT) AfFart g1 a‘rq;raﬂ‘rﬁrﬁﬁs%’rqﬁ
B g HIRI

ii) In case of any doubt or dispute, the English
version question should be treated as final.

At ff R & Y2 yar faae i fRAfY
F afoft seT & "o Y Sife AFT SIRFM|

1. Choose the correct answer. 2 each
W8 IR &1 T S|

i) In which work through compass is used?
(a) Line plotting by theodolite
(b) Chain and compass survey
(¢) Plane table surveying
(d) Chain surveying
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fart o &g aYoft RRavgEe &1 yarT s S
2?

&)

XGI3 AB 3R AC &1 fA 45° Td 220° BHe

2 @ 3T BAC &1 9 &R

(o1) RraiteiemTse gRT YT (31) 95° (3) 175°
(7) 3 @ e e (W) 185° (8) 5°
(W) et wdam iv) As per IS 1942-1970 number of links in 30m
(g) sritq wdaror chain is:

ii) The least count of levelling staff is: : - (a) 300 (b) 200
(a) 0.5 cm (c) 150 (d) 100
(b) 5 cm | | YR HS 1942-1970 & AR 30 R A
(c) 0.05 cm | A B B H H&AT Bnil
(d) 0.005 cm | (3‘,) 300 (a) 200
AL H WY TSI BT JCAREATD Nl & («) 150 (2) 100
(a1) 0.5 Ht (@) 5 ¥ v} To check the levelling work done in a whole day
(W) 0.05 @+ (2) 0.005 @+ which of the method must be applied?

iii) The bearing of line AB and AC are 45° and 220° (a) Reciprocal levelling RrepvoNLINE.coM
respectively. ZBAC will be: (b) Double levelling
(a) 95° (b) 175° (c) Flylevelling
(c) 185° (d) 5° (d) Profile levelling
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R R § At T aRf 6 it ot B R
ﬁq%f@aﬁﬁaﬁwaﬂﬁﬂammgm?ﬁﬁ?
(31) 3Fa=T eraquT () Sra=T TRremy
(W) I e (%) Worser Treor

Classify the obstacles in chaining with examples. 6
SN wderor ¥ g R yeR B Bt ¥
HeAS B IIERV WRT w9

List down the sources of different types of error
in compass SUrvey. RGPVONLINE.COM

ﬁﬂﬂﬁ?ﬁﬁe{wﬁm@%mmaﬁ‘

forfRau)

What is bearing? Explain the types of bearing. 6
fewar 741 32 A fhe R A Bt &, oo
S|

Following readings were observed using a
levelling staff- 12

0.865,2.105, 1.025, 1.520, 1.865, 2.230,2.835,
2.355, 1.760.

Apparatus was shifted after 27, 5t apd 7t

readings. If RL of last point is 558.410 then find
out RL of other points.

Contd.....

b)

b)

PT/F/2014/0023

) -

v A9 93 A Frfafed »Re Jeuie 9

T 8-

0.865,2.105, 1.025, 1.520, 1.865, 2.230, 2.835,
2.355, 1.760

3 it RAfY g, o oIk wiad uraais &
q1g geelt ¢ B1 AR} R g &1 waria @@
558.410, 8 <t 3 fa=gail & QuHIa ae Sia
ol

Enlist the accessories of plane table survey with
their uses. 6

g {01 H WS SUBIUN & A foraaR
IS9P IuanT forfRav

Differentiate between the following: 6x2=12

i) Oblique and Perpendicular offset

ii) Plane and geodetic surveying

frfoRaa & sicR v

i) foR® T TEaa @HP

ii) WHae 9 Yg8 wJar

Name the axis of dumpy level and give the
relation between them? 6

ferRau)
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5. Explain the follmi*ing:
i) Level Surface ii) Reduced level
iii) Bench Mark iv) Change Point
V) Equilateral triangle vi) Fly levelling
fr=ferRea &1 wrsm=
i) WHad wag |
i) WHg aa
iii) 9 forg
iv) uRad= ﬁ'g
V) g e
vi) TaTE dafer

3 each

6. a) A total distance of 2600 m was measured by a

PT/F/2014/0023

- 30m chain. The length was correct at the
beginning but was found 8 cm too long after
measuring 1500 m and 15¢m too long at the end

of 2600m. Find the real distance. 12
RGPVONLINE.COM

T 30 =t 27 gRT 2600 R H et gt A1
IR § T Wl off afe 1500 Hiex & &
AT & T O 8 Wt o ot ar 1 sil
#2600 #t g A1 & wear 3 15 wh e
@t arg ¢ | e @ s Sifergr
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b) Convert the following bearings from one system

to another. 6
i) 270°

ii)) N43°30'w

iil) — 319° 45'

e Rerit o ve somelt A gudt someft
% aRafda Hifom:

1) 270°

ii) N43°30'w

iii) —319° 45’

a) Explain orientation in plane table surveying. 6
yed W& & figwra Bt W
b) Explain the procedure of using Planimeter. 6
MR & e H A &1 goi= Hifsg
¢) Describe various types of benchmarks. 6
daad & A yeRl @1 avfa Hifcrg
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